
 

 

ITI Computer Operator and Programming Assistant (Python) 
Module 8 Database Concepts, Queries & Joints and Functions 

 
(1). The term attribute refers to a ___________ of a table. | िवशेषता शɨ िकसी टेबल के 
___________ को संदिभŊत करता है। 

(A)   record | įरकाडŊ  

(B)   column | कॉलम 

(C)   tuple | टपल 

(D)   key | की 

Correct Answer : B 

 

(2). Which of the following are TCL commands? | िनɻिलİखत मŐ से कौन से TCL कमांड हœ? 

(A)   COMMIT and ROLLBACK 

(B)   UPDATE and TRUNCATE 

(C)   SELECT and INSERT 

(D)   GRANT and REVOKE 

Correct Answer : A 

 

(3). Collections of operations that form a single logical unit of work are called __________. | 
कायŊ की िसगल ल़ॉिजकल यूिनट बनाने वाले संचालन के संŤह को __________ कहा जाता है। 

(A)   views | ̊ʴ 

(B)   networks | नेटवकŊ  

(C)   units | यूिनट्स 

(D)   transactions | टŌ ांसƕन 

Correct Answer : D 

 



 

 

(4). What does the following code snippet do? ALTER TABLE STUDENT ADD(ADDRESS 
VARCHAR2(20)); | िनɻिलİखत कोड ि˘पेट Ɛा करता है? ALTER TABLE STUDENT 
ADD(ADDRESS VARCHAR2(20)); 

(A)   Invalid Syntax 

(B)   Checks if a column called ADDRESS is present in the table student | जाँचता है िक छाũ 
तािलका मŐ ADDRESS नामक कॉलम मौजूद है या नही ं

(C)   Adds a column called ADDRESS in the table student | छाũ तािलका मŐ ADDRESS नामक एक 
कॉलम जोड़ता है 

(D)   Adds records in a column called ADDRESS in the table student | ːूडŐट टेबल मŐ ADDRESS 
नामक कॉलम मŐ įरकॉडŊ  जोड़ता है 

Correct Answer : C 

 

(5). Which of the following is used to input the entry and give the result in a variable in a 
procedure? | िकसी ŮिŢया मŐ Ůिविʼ को इनपुट करने और एक वेįरएबल मŐ पįरणाम देने के िलए 
िनɻिलİखत मŐ से िकसका उपयोग िकया जाता है? 

(A)   Put and get 

(B)   Get and put 

(C)   Out and In 

(D)   In and out 

Correct Answer : D 

 

(6). What does the following statement in SQL do? DROP TABLE student; | SQL मŐ िनɻिलİखत 
कथन Ɛा करता है? DROP TABLE student; 

(A)   Deletes a table called student | िवȨाथŎ नामक टेबल को हटा देता है 

(B)   Creates a table called student | छाũ नामक एक टेबल बनाता है 

(C)   Check if there is a table called student | जांचŐ िक Ɛा छाũ नाम की कोई टेबल है 

(D)   Deletes only the records in a table called student | केवल ːूडŐट नाम के टेबल मŐ įरकॉडŊ  
हटाता है 

Correct Answer : A 



 

 

 

(7). Which of the following systems is responsible for ensuring durability? | ̾थाियȕ सुिनिʮत 
करने के िलए िनɻिलİखत मŐ से कौन सी Ůणाली िजʃेदार है? 

(A)   Recovery system | įरकवरी िसːम 

(B)   Atomic system | एटॉिमक िसːम 

(C)   Concurrency control system | समवतŎ िनयंũण Ůणाली 

(D)   Compiler system | संकलक Ůणाली 

Correct Answer : A 

 

(8). In the database design, to characterize fully the data needs of the prospective database 
user in the ________ | डेटाबेस िडजाइन मŐ, ________ मŐ संभािवत डेटाबेस यूज़र की डेटा 
आवʴकताओ ंको पूरी तरह से िचि˥त करने के िलए। 

(A)   Initial phase | पहला फेज 

(B)   Execution phase | एƛƐूशन फेज 

(C)   Maintenance phase | मŐटेनŐस फेज 

(D)   Closure phase | Ƒोज़र फेज 

Correct Answer : A 

 

(9). Execution of translation in isolation preserves the _________ of a database. | 
आइसोलेशन मŐ अनुवाद का िन˃ादन डेटाबेस के _________ को संरिƗत करता है। 

(A)   atomicity | एटोिमिसटी 

(B)   consistency | İ̾थरता 

(C)   durability | ̾थाियȕ 

(D)   Integrity | अखंडता 

Correct Answer : B 

 

(10). Representations such as the in the dept year relation, with one column for each value of 
an attribute, are called _______ they are widely used in spreadsheets ands and in data 



 

 

analysis tools. | िकसी िवशेषता के Ůȑेक मान के िलए एक कॉलम वाले िवभाग वषŊ संबंध जैसे 
अɷावेदन को _______ कहा जाता है, इनका ʩापक ŝप से ˚ेडशीट और įरपोटŊ  और डेटा 
िवʶेषण टूल मŐ उपयोग िकया जाता है। 

(A)   cross-tabs | Ţॉस-टैब 

(B)   snapshot | ˘ैपशॉट 

(C)   both cross-tabs and Snapshot | Ţॉस-टैब और ˘ैपशॉट दोनो ं

(D)   across-tabs | अŢॉस-टैɵ 

Correct Answer : A 

 

(11). What is full form of DDL? | DDL का पूणŊ ŝप Ɛा है? 

(A)   Data Describe Language 

(B)   Definition Data Language 

(C)   Data Definition Language 

(D)   Data Distinct Language 

Correct Answer : C 

 

(12). What is the best way to represent the attributes in a large database? | िकसी बड़े डेटाबेस 
मŐ िवशेषताओ ंको Ůˑुत करने का सबसे अǅा तरीका Ɛा है? 

(A)   Relational-and | संबंधपरक-और 

(B)   Concatenation | जोड़ना 

(C)   Dot representation | िबंदु Ůितिनिधȕ 

(D)   Customization | कːमाईजेशन 

Correct Answer : B 

 

(13). Which of the following is not a type of database? | िनɻिलİखत मŐ से कौन सा डेटाबेस का 
एक Ůकार नही ंहै? 

(A)   Hierarchical | ŵेणीबȠ 



 

 

(B)   Network | नेटवकŊ  

(C)   Distributed | िवतįरत 

(D)   Decentralized | िवकेȾीकृत 

Correct Answer : D 

 

(14). Which of the following is the correct format for if statement? | िनɻिलİखत मŐ से कौन सा 
if ːेटमŐट के िलए सही Ůाŝप है? 

(A)   If boolean expression then statement or compound statement else if boolean expression 
then statement or compound statement else statement or compound statement end if 

(B)   If boolean expression then statement or compound statementelsif boolean expression 
then statement or compound statement else statement or compound statemented if 

(C)   If boolean expression then statement or compound statementelif boolean expression 
then statement or compound statement else statement or compound statemented if 

(D)   If boolean expression then statement or compound statement else statement or 
compound statement else statement or compound statemented if 

Correct Answer : A 

 

(15). Declare out of classroom seats condition DECLARE exit handler FOR OUT OF classroom 
seats BEGIN SEQUENCE OF statements END The above statements are used for___ | Declare 
out of classroom seats condition DECLARE exit handler FOR OUT OF classroom seats BEGIN 
SEQUENCE OF statements END उपरोƅ कथनो ंका उपयोग ___ के िलए िकया जाता है। 

(A)   calling procedures 

(B)   handling exception 

(C)   handling procedures 

(D)   calling functions 

Correct Answer : B 

 

(16). The format for compound statement is________. | कंपाउंड ːेटमŐट का फॉमőट ________ 
है। 

(A)   begin ……. end 



 

 

(B)   begin atomic……. end 

(C)   begin ……. repeat 

(D)   both begin ……. end and begin atomic……. end 

Correct Answer : D 

 

(17). What is the need for our query to execute successfully on an existing view? | िवȨमान 
̊ʴ पर हमारी Ɠेरी को सफलतापूवŊक िन˃ािदत करने की Ɛा आवʴकता है? 

(A)   The specified table must contain data 

(B)   We should have a SELECT privilege only on the specified table 

(C)   The specified table must be in the same database or schema 

(D)   We must have a SELECT privilege on the view 

Correct Answer : D 

 

(18). To obtain the structure of an Oracle table, the command to use is______. | Oracle टेबल 
की संरचना Ůाɑ करने के िलए, उपयोग करने योƶ कमांड ______ है। 

(A)   STRUCTURE [TableName]. 

(B)   DESCRIBE [TableName]. 

(C)   DESCRIBE STRUCTURE [TableName]. 

(D)   DESC TABLE [TableName]. 

Correct Answer : B 

 

(19). Database __________ which is the logical design of the database, and the database 
_______ which is a snapshot of the data in the database at a given instant in time. | डेटाबेस 
__________ जो डेटाबेस का लॉिजकल िडज़ाइन है, और डेटाबेस _______ जो िकसी िदए गए समय 
मŐ डेटाबेस मŐ डेटा का एक ˘ैपशॉट है। 

(A)   instance, schema | इं Őːस, ˋीमा 

(B)   relation, schema | संबंध, ˋीमा 

(C)   relation, domain | संबंध, डोमेन 



 

 

(D)   schema, instance | ˋीमा, इं Őːस 

Correct Answer : D 

 

(20). Create function dept count(dept_name varchar(20)) begin declare d_count integer; 
select count(*) into d_count from instructor where instructor.dept_name= dept_name return 
d_count; end Find the error in the above statement. | फ़ंƕन िवभाग बनाएँ count(dept_name 
varchar(20)) begin declare d_count integer; select count(*) into d_count from instructor 
where instructor.dept_name= dept_name return d_count; end उपरोƅ कथन मŐ ũुिट ǒात 
कीिजए। 

(A)   Return type missing 

(B)   Dept_name is mismatched 

(C)   Reference relation is not mentioned 

(D)   Error in the formation of the function name 

Correct Answer : A 

 

(21). The scheme that controls the interaction between executing transaction is called as 
_____. | वह योजना जो लेनदेन िन˃ािदत करने के बीच पर˙र िŢया को िनयंिũत करती है, उसे 
_____ कहा जाता है। 

(A)   concurrency control scheme | समवतŎ िनयंũण योजना 

(B)   multiprogramming scheme | मʐीŮोŤािमंग योजना 

(C)   serialization scheme | Ţमांकन योजना 

(D)   schedule scheme | अनुसूची योजना 

Correct Answer : A 

 

(22).  A domain is atomic if elements of the domain are considered to be ____________ units. 
| एक डोमेन परमाणु है यिद डोमेन के तȕो ंको ____________ इकाइयाँ माना जाता है। 

(A)   different | अलग 

(B)   indivisible | अभाǛ 

(C)   constant | िनयत 



 

 

(D)   divisible | भाǛ 

Correct Answer : B 

 

(23). For each attribute of a relation, there is a set of permitted values, called the ________ of 
that attribute. | िकसी संबंध की Ůȑेक िवशेषता के िलए, अनुमत मानो ंका एक सेट होता है, िजसे 
उस िवशेषता का ________ कहा जाता है। 

(A)   domain | डोमेन 

(B)   relation | संबंध 

(C)   set | सेट 

(D)   schema | ˋीमा 

Correct Answer : A 

 

(24).  The tuples of the relations can be of ________ order. | संबंधो ंके टुपʤ ________ Ţम के 
हो सकते हœ। 

(A)   any | कोई 

(B)   same | वही 

(C)   sorted | ŢमबȠ 

(D)   constant | िनयत 

Correct Answer : A 

 

(25). What is full form of DML? | DML का पूणŊ ŝप Ɛा है? 

(A)   Data Multiplication Language 

(B)   Data Manipulation Language 

(C)   Data Modify Language 

(D)   Data Mapping Language 

Correct Answer : B 

 



 

 

 


